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Q 1. किसी िक्षा मेें मेमेतषा िो रैैंि ऊपरै से 21वीीं तथषा नीचे 
से 15वीीं है तो बतषाइये िक्षा मेें िुल कितने कवीद्षाथथी 
है?

(a) 29
(b) 36
(c) 27
(d) 35

Q 2. यकि रैषाहुल िषाये से 12वीें स्थषान परै औरै बषायें औरै 
बषायें से चौथे स्थषान परै तब एि ितषारै मेें औरै कितने 
लोगोों िी जोड़षा जषाए तषाकि ितषारै मेें िुल 28 लोगो हो 
जषाएँ ?

(a) 12 
(b) 14 
(c) 20
(d) 13

Q 3. एि िक्षा िे उत्ीर््ण हुए कवीद्षाकथ्णयों िी सूची मेें रैषाजन 
िषा स्थषान 11वीषँा है औरै नीचे िी ओरै से वीह 31 वीें 
स्थषान परै है। तीन कवीद्षाथथी परैीक्षा मेें शषाकमेल नहीं हुए 
औरै एि अनुत्ीर््ण हो गोयषा थषा। िक्षा मेें िुल कितने 
छषात्र हैं?

(a) 32
(b) 42
(c) 45
(d) 46

Q 4. 53 कवीद्षाकथ्णयों िी एि िक्षा मेें जयषा िी रैैंि 5वीीं है, 
नीचे से जयषा िषा स्थषान क्यषा होगोषा?

(a) 49वीीं 
(b) 48वीीं
(c) 47वीीं 
(d) 50वीीं

Q 1. In the class Mamta's Rank is 21st from 
the top and 15th from the bottom. How 
many students are there in the class? 

(a) 29
(b) 36
(c) 27
(d) 35

Q 2. If Rahul is 12th from the right and 4th from 
the left then how many more people should 
be added in a queue so that the total number 
of people in the queue becomes 28? 

(a) 12 
(b) 14 
(c) 20
(d) 13

Q 3. Rajan is 11th in the list of passed students 
of a class and he is 31th from the bottom. 
Three students did not appear in the exam 
and one student failed in exam. How many 
students are there in the class?

(a) 32
(b) 42
(c) 45
(d) 46

Q 4. In a class of 53 students Jaya's rank is 5th, 
what will be her rank from the bottom? 

(a) 49
(b) 48
(c) 47
(d) 50
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रैैंकिंगो, क्रमे औरै अनुक्रमे

https://khanglobalstudies.com/


UPSC CSAT www.khanglobalstudies.com

02 RANKING, ORDER & SEQUENCE

Q 5. कवीद्षाकथ्णयों िी एि पंक्क्त मेें जकतन िषा स्थषान बषाएँ छोरै से 
बषारैहवीषाँ है औरै योगोेश जकतन िे बषाएँ पषाँचवीें स्थषान परै है। 
िषाएँ छोरै से योगोेश िषा स्थषान ज्षात िीकजये?

(a) 14 
(b) 13
(c) 12
(d) इनमेें से कोई नहीीं

Q 6. 35 लोगोों िो एि पंक्क्त मेें िषायीं छोरै मेें िेवी 25वीषाँ है। िेवी 
औरै अजय िे बीच िस लोगो है। इनमेें से सभी िषा मेुख 
उत्रै िी ओरै है। िषायीं छोरै से अजय िषा स्थषान ज्षात 
िीकजये?

(a) 15 
(b) 14
(c) 16
(d) ज्ञात नहीीं ककयञा जञा सकतञा

Q 7. कवीद्षाकथ्णयों िी एि ितषारै मेें बषायें से किलीप िषा स्थषान 
10वीषाँ औरै जगोिीश िषा स्थषान िषायें से 20वीषाँ है। यह 
िोनों आपस मेें अपने स्थषान बिल लेते हैं औरै जगोिीश 
िषायें से 23वीें स्थषान परै आ जषातषा है। ितषारै मेें कितने 
कवीद्षाथथी थे?

(a) 33
(b) 44
(c) 32
(d) 41

Q 8. रैेलवीे कििि खरैीिते समेय रैषामे कििि िषाउंिरै से 
5वीें स्थषान परै थषा। वीह अपनषा स्थषान बिलिरै 4 
व्यक्क्तयों िे पीछे िे स्थषान परै आ जषातषा है, कजससे 
उसिे आगेो तथषा पीछे व्यक्क्तयों िी संख्यषा समेषान हो 
जषाती है, तो बतषाइये पंक्क्त मेें िुल कितने व्यक्क्त 
खड़े हैं?

(a) 19
(b) 21
(c) 17
(d) 23

Q 5. In a row of 20 students Jatin is twelfth from 
the left end Yogesh is 5th to the left of Jatin. 
Find the position of Yogesh from the right end?

(a) 14 
(b) 13
(c) 12
(d) None of the above

Q 6. In a row of 35 peoples Dev is 25th from the 
right end. Ten peoples sit between Dev and 
Ajay. All of them are facing North. Find the 
position of Ajay from the right end? 

(a) 15 
(b) 14
(c) 16
(d) Cannot be determined

Q 7. In a queue of students Dilip is 10th from the 
left and Jagdish is 20th from the right. They 
reciprocally change their place and Jagdish 
comes to 23rd place from the right. How 
many students were there in the queue?

(a) 33
(b) 44
(c) 32
(d) 41

Q 8. While buying Railway ticket, Ram's position 
is 5th from ticket counter. He changed his 
position and comes behind 4 persons, then 
the number of persons in front and behind 
becomes equal. Then how many persons are 
standing in the row?

(a) 19
(b) 21
(c) 17
(d) 23
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Q 9. कवीद्षाकथ्णयों िी एि ितषारै मेें बषायें से 12वीें स्थषान परै 
जमेषा औरै िषायें से 20वीें स्थषान परै रैेखषा है। यकि यह 
िोनों आपस मेें स्थषान बिल लेती हैं, तब जयषा बषायें से 
22वीें स्थषान परै आ जषाती है। ितषारै मेें कितने कवीद्षाथथी 
थे?

(a) 30
(b) 31
(c) 41
(d) 34

कनिदेश (प्र. सं. 10-12):  व्यक्क्तयों िी एि पंक्क्त मेें A 
औरै B बैठेें हैं। A िषा स्थषान बषाई ओरै से 18वीषां तथषा B 
िषा स्थषान िषाई ओरै से 24वीषां है। यकि ये िोनों अपने स्थषान 
आपस मेें बिल लेते हैं, तो A िषा स्थषान बषाई ओरै से 
31वीषां हो जषातषा है।

Q 10. A तथषा B िे बीच मेें कितने व्यक्क्त बैठेे है?

(a) 11
(b) 12
(c) 9
(d) 15

Q 11. पंक्क्त मेें िुल व्यक्क्तयों िी संख्यषा बतषाइए?

(a) 54
(b) 51
(c) 49
(d) 56

Q 12. B िषा िषायीं ओरै से नयषा स्थषान क्यषा होगोषा ?

(a) 36
(b) 34
(c) 37
(d) इनमेें से कोई नहीीं

Q 9. In a queue of students Jaya is 12th from the 
left and Rekha is 20th from the right. If they 
change their place reciprocally then Jaya 
comes to 22nd from the left. How many 
students were there in the queue?

(a) 30
(b) 31
(c) 41
(d) 34

Directions (Q. No. 10-12): A and B are sitting 
in a row of persons. A's position is 18th from 
the left and B's position is 24th from the right. 
If both of them interchange their positions, 
then A's position becomes 31st from the left.

Q 10.  Find the no. of persons between A & B?

(a) 11
(b) 12
(c) 9
(d) 15

Q 11. Find the total no. of persons.

(a) 54
(b) 51
(c) 49
(d) 56

Q 12. Find the new position of B from right side.

(a) 36
(b) 34
(c) 37
(d) None of the above             
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Q 13. लड़कियों िी एि पंक्क्त मेें J िषा स्थषान बषाएँ से नौवीषाँ औरै 
K िषा िषाएँ छोरै से सोलहवीषां है। यकि J औरै K िे बीच 
िस लड़कियषाँ है तो पंक्क्त मेें लड़कियों िी िुल संख्यषा 
क्यषा है?

(a) 35
(b) 12
(c) 35 यञा 12
(d) ज्ञात नहीीं ककयञा जञा सकतञा

Q 14. किसी पंक्क्त मेें, बषाएँ छोरै से A िषा स्थषान 15वीीं है। 
िषाएँ छोरै से B िषा स्थषान 20वीषँा है। इन िोनों िे बीच 
छह व्यक्क्त है। पंक्क्त मेें िुल व्यक्क्तयों िी संख्यषा 
क्यषा है?

(a) 41
(b) 39
(c) 41 यञा 27
(d) इनमेें से कोई नहीीं

Q 15. मेोहन बषायें से 35वीें स्थषान परै बैठेषा है औरै सोहन 
िषायें से 22वीें स्थषान परै है। यकि पंक्क्त मेें 54 व्यक्क्त 
है, मेोहन औरै सोहन िे बीच कितने व्यक्क्त बैठे े
ह ैं?

(a) 0 
(b) 1
(c) 2 
(d) इनमेें से कोई नहीीं

Q  1 6.  46 व्यक्क्तयों  िी  ए ि पं क्क् त  मे ें,  कमेथुन  पं क्क्त 
मे ें ब षायीं  ओरै  से  2 2 वीषाँ  है  औरै  पंिज  पं क्क्त  मे ें 
ि षायी  ओरै से  इित् ीस वीषँा  है ।  कमेथुन  औरै पंिज 
ि े बीच मे ें बैठे े व्य क्क् तय ों  िी  संख्यषा  ज्षात 
िी कजये?

(a) 5
(b) 4
(c) 7
(d) 3 यञा 5

Q 13. J is ninth from the left and K is sixteenth 
from the right end in a row of girls. What 
is the total number of girls in the row if 
there are ten girls between J and K?

(a) 35
(b) 12
(c) 35 or 12
(d) Cannot be determined

Q 14. In a row, the position of A is 15th from the 
left end. B is 20th from the right end. 
There are 6 persons in between them what 
is the total number of persons in the row?

(a) 41
(b) 39
(c) 41 or 27
(d) None of the above

Q 15. Mohan is sitting 35th from the left end and 
Sohan is sitting 22nd from the right end of the 
row. If there are 54 students in a row. Find the 
no. of person sitting between Mohan and Sohan.

(a) 0 
(b) 1
(c) 2 
(d) None of the above

Q 16. In a row of 46 persons, Mithun is 22nd 
from the left side of the row and Pankaj 
is 31st from the right side of the raw. 
Find the number of persons sitting 
between Mithun and Pankaj?

(a) 5
(b) 4
(c) 7
(d) 3 or 5
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कनिदेश (प्र. सं. 17-22):- A, B, C, D, E, F, G 
and H एि परैीक्षा मेें उपक्स्थत होते हैं। परैीक्षा मेें 
उनि े प्रिश्णन िे अनुसषारै उनिी रैैंि कनर्षा्णररैत िी 
जषाती है।

किन्हीं भी िो व्यक्क्तयों िी रैैंि समेषान नहीं है।

 ● A की रैैंक H से ऊंची हीै।
 ● C, G से एक रैैंक ऊपरै हीै।
 ● •B औरै F के बीच केवील एक रैैंक हीै औरै इस छञात्र की 

रैैंक A से नीचे हीै।
 ● D औरै G की रैैंक A से ऊंची हीै।
 ● E रैैंककंग मेें शीर््ष परै हीै।

Q 17. इनमेें से किस िी रैैंि कनम्नतमे है?

(a) B
(b) F
(c) H 
(d) यञा तो B अथवीञा F

Q 18. आँिड़ों िे अनुसषारै, कितनी रैैंि पूर््णतः ज्षात िी जषा 
सिती हैं?

(a) 3
(b) 4
(c) 5
(d) 6

Q 19. G कितने स्थषान ग्रहर् िरै सितषा है?

(a) 1
(b) 2
(c) 3
(d) 4

Q 20. पषाँचवीी रैैंि किसिी है?

(a) G
(b) D
(c) A
(d) आँकड़़े पयञा्षप्त नहीीं

Direction (Q.No. 17-22)- A, B, C, D, E, F, 
G and H appears in a exam. According to 
their performance in the exam their 
rank is determined.

•No two students have the same rank.

 ● •A's rank is higher to H.
 ● C is higher than one rank to G.
 ● There is only one rank in between B and F 

and the rank of this students is lower to A.
 ● Rank of D and G is higher to A.
 ● E is on top of ranking.

Q 17. From the following whose rank is lowest? 

(a) B
(b) F
(c) H 
(d) Either B or F

Q 18. As per given information how many 
ranks can be known? 

(a) 3
(b) 4
(c) 5
(d) 6

Q 19. How many places G can take? 

(a) 1
(b) 2
(c) 3
(d) 4

Q 20. Who ranked fifth? 

(a) G
(b) D
(c) A
(d) Data is not sufficient
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Q 21. इनमेें से िौन-सषा प्रबन्र् वीैर् (Valid) है?

(a) EDGCHABF
(b) ECGDAFHB
(c) EDCGBAFH
(d) EDBCGAFH

Q 22. यकि H िी रैैंि 7वीीं है, तब D िी रैैंि क्यषा होगोी?

(a) 2 
(b) 3
(c) 5
(d) आँकड़़े पयञा्षप्त नहीीं हीै

Q 23. अंग्रेजी वीर््णमेषालषा िे यकि सभी अक्रैों िो क्रमे से 
कलखषा जषाये तो बषाएँ से 12वीीं अक्रै िौन-सषा 
होगोषा?

(a) P
(b) Q
(c) R
(d) T

Q 24. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िो क्रमे से 
कलखषा जषाये तो िषाएँ से 16वीषँा अक्रै िौन-सषा 
होगोषा?

(a) J
(b) K
(c) L
(d) O

Q 25. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िो क्रमे से 
कलखषा जषाये तो बषाएँ से 16वीें अक्रै िे िषाएं से चौथषा 
अक्रै िौन-सषा होगोषा?

(a) R
(b) P
(c) T
(d) U

Q 21. Which one of the following is valid? 

(a) EDGCHABF
(b) ECGDAFHB
(c) EDCGBAFH
(d) EDBCGAFH

Q 22. If H is Ranked 7, what will be the rank of D? 

(a) 2 
(b) 3
(c) 5
(d) Data is not sufficient

Q 23. If all the English alphabets are written 
in a sequence, then which of the following 
will be the 17th latter form the left? 

(a) P
(b) Q
(c) R
(d) T

Q 24. If all the English alphabets are written 
in a sequence, then which of the following 
will be the 16th letter from the right? 

(a) J
(b) K
(c) L
(d) O

Q 25. If all the letters of the English alphabet are 
written in sequence, then which letter will be 
the fourth to the right of the 16th letter from 
the left?
(a) R
(b) P
(c) T
(d) U
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Q 26. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िो क्रमे से कलखषा 
जषाये तो बषाएँ से नीचे अक्रै िे िषाएँ 8वीें अक्रै िे िषाएँ 
तीसरैषा अक्रै िौन-सषा होगोषा?

(a) O
(b) Q
(c) P
(d) R

Q 27. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िो क्रमे से कलखषा 
जषाये तो बषाएँ से 20वीें अक्रै िे िषाएँ अक्रै िौन-सषा 
होगोषा?

(a) M
(b) N
(c) O
(d) I

Q 28. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िो क्रमे से कलखषा 
जषाये तो िषाएँ से 17वीें अक्रै िे बषाएँ चौथषा अक्रै िौन-सषा 
होगोषा?

(a) T
(b) M
(c) F
(d) E

Q 29. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िे क्रमे से कलखषा 
जषाये तो िषाएँ से 21वीें अक्रै िे िषाएँ 5वीषाँ अक्रै िौन-सषा 
होगोषा?

(a) H
(b) K
(c) N
(d) W

Q 26. If all the English alphabets written in a 
sequence the which of the following will 
be 3rd the left of 8th letter which is right 
to the 11th letter from the left? 
(a) O
(b) Q
(c) P
(d) R

Q 27. If all the letters of the English alphabet are 
written in sequence, then which letter will be 
to the right of the 20th letter from the left?

(a) M
(b) N
(c) O
(d) I

Q 28. If all the English alphabets are written in a 
sequence, then which of the following will 
be 4th to the right of the 17th letter from the 
right? 
(a) T
(b) M
(c) F
(d) E

Q 29. If all the English alphabets are written in 
sequence, then which of the following will 
be 5th to the left of 21st letter from the right? 

(a) H
(b) K
(c) N
(d) W
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Q 30. अंग्रेजी वीर््णमेषालषा मेें प्रषारैंकभि 13 अक्रै कवीपरैीत क्रमे मेें 
कलखे जषाते है औरै 13 अगोले अक्रै सीर्े क्रमे मेें कलखे 
जषाते है। बषाएं ओरै से 14 अक्रै िे िषाएं से चौथषा अक्रै 
िौन सषा होगोषा?

(a) N
(b) Q
(c) R
(d) T

Q 31. वीर््णमेषालषा मेें प्रषारैंकभि 5 अक्रै कवीपरैीत क्रमे मेें 
कलखे जषाते है औरै अगोले 5 अक्रै कवीपरैीत क्रमे मेें 
कलखे जषाते ह ैं औरै आगेो भी इसी तरैह कलखषा जषातषा 
है, औरै अन्त मेें Z अपने स्थषान परै बनषा रैहतषा है। 
11वीें अक्रै िे िषाएँ ओरै तीसरैषा अक्रै िौन सषा 
होगोषा?

(a) L
(b) N
(c) M
(d) R

Q 32. कनम्नकलकखत िथनों परै कवीचषारै िीकजये।

1. यञा रैोतञा औरै गीतञा बरैञाबरै हीै यञा रैीतञा गीतञा से बड़ी 
हीै।

2. यञा तो ककवीतञा रैेखञा से बड़ी हीै यञा ककवीतञा औरै रैेखञा 
बरैञाबरै हीैं।

3. गीतञा, रैेखञा से बड़ी हीै

उपयु्णक्त िथनों से कनम्नकलकखत मेें से िौन सषा कनष्िर््ण 
कनिषालषा जषा सितषा है?

(a) रैीतञा, गीतञा से बड़ी हीै।
(b) गीतञा औरै ककवीतञा बरैञाबरै आयु की हीै।
(c) ककवीतञा रैेखञा से बड़ी हीै।
(d) (d) रैीतञा, रैेखञा से बड़ी हीै।

Q 30. In the English alphabet, the first 13 letters 
are written in reverse order and the next 
13 letters are written in direct order. Which 
will be the fourth letter to the right of the 
14th letter from the left?
(a) N
(b) Q
(c) R
(d) T

Q 31. In the alphabet, the first 5 letters are 
written in the reverse order and the next 
5 letters are written in the reverse order 
and so on, and finally Z remains in its 
place. Which will be the third letter to 
the right of the 11th letter?

(a) L
(b) N
(c) M
(d) R

Q 32. Consider the following statements-

1. Either Reeta and Geeta are equal or 
Reeta is older than Geeta.

2. Either kavita is older than Rekha or 
Kavita is equals to Rekha.

3. Reeta is older than Geeta.

Which of the following conclusion can be 
drawn from the above statements?

(a) Reeta is older than Geeta.
(b) Geeta and Kavita are of same age.
(c) Kavita is older than Rekha,
(d) Reeta is greater than Rekha.
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Q 33. अंग्रेजी वीर््णमेषालषा िे प्रषारैंकभि 13 अक्रै उल्िे क्रमे मेें 
कलखे जषाते हैं औरै अगोले 13 अक्रै उल्िे क्रमे मेें कलखे 
जषाते हैं। िषाएं से िसवीें अक्रै िे बषाएं से पषांचवीषा अक्रै िौन 
सषा होगोषा?

(a) M
(b) D
(c) B
(d) A

Q 34. अंग्रेजी वीर््णमेषालषा िे प्रषारैंकभि 13 अक्रै सीर्े क्रमे मेें 
कलखे जषाते हैं औरै अगोले 13 अक्रै कवीपरैीत क्रमे मेें 
कलखे जषाते हैं। बषाएं से नौवीें अक्रै िे िषाएं से छठेषा 
अक्रै क्यषा होगोषा?

(a) D
(b) P
(c) C
(d) Y

Q 35. िो िथनों औरै एि प्रश्न परै कवीचषारै िीकजए-

1. कथन-1 : A बञाएं से 42वीें स्थञान परै हीै तथञा C, A के 
दञाएं 7वीञां हीै।

2. कथन-2 : R, बञाएं से 53 स्थञान परै हीै तथञा C, R के 
बञाएं चौथे स्थञान परै हीै।

प्रश्न. 60 कवीद्षाकथ्णयों िे पंक्क्त मेें िषाएं से सी िषा िौन सषा 
स्थषान है?

(a) प्रश्न के उत्तरै देने के कलए केवील कथन एक पयञा्षप्त नहीी 
हीै।

(b) प्रश्न के उत्तरै देने के कलए केवील कथन दो पयञा्षप्त नहीी 
हीै।

(c) प्रश्न के उत्तरै देने के कलए यञा तो केवील कथन एक यञा 
केवील कथन दो पयञा्षप्त हीै।

(d) प्रश्न के उत्तरै देने के कलए कथन एक औरै कथन दो 
दोनों की आवीश्यकतञा हीै।

Q 33. The first 13 letters of the English alphabet 
are written in reverse order and the next 
13 letters are written in reverse order. 
Which will be the fifth letter from the left 
of the tenth letter from the right?
(a) M
(b) D
(c) B
(d) A

Q 34. The first 13 letters of the English alphabet 
are written in direct order and the next 13 
letters are written in reverse order. What 
will be the sixth letter to the right of the 
ninth letter from the left?
(a) D
(b) P
(c) C
(d) Y

Q 35. Consider two statements and one question-

1. Statement-1: A is 42nd from the left and 
C is 7th to the right of A.

2. Statement-2: R is 53rd from the left and 
C is fourth to the left of R.

Question. What is the position of C from 
the right in the row of 60 students?

(a) Statement one alone is not sufficient to 
answer the question.

(b) Statement two alone is not sufficient to 
answer the question.

(c) Either statement one alone or statement two 
alone is sufficient to answer the question.

(d) Both statement one and statement two 
are required to answer the question.
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Q 1. किसी पंक्क्त मेें, श्ीमेषान X सषामेने से 14वीें स्थषान परै हैं 
औरै श्ीमेषान Y अंत से 17 वीें स्थषान परै है, जबकि श्ीमेषान 
Z श्ीमेषान Y औरै श्ीमेषान Y िे ठेीि मेध्य मेें है I श्ीमेषान 
X यकि श्ीमेषान Y िे आगोे है औरै पंक्क्त मेें िुल 48 
व्यक्क्त हैं, तो श्ीमेषान X औरै श्ीमेषान Z िे बीच कितने 
व्यक्क्त हैं?  UPSC 2011

(a) 6
(b) 7
(c) 8
(d) 9

Q 2. गोीतषा, सीतषा से अकर्ि सुंिरै है लेकिन रैीतषा कजतनी सुंिरै 
नही है तो - UPSC 2012
(a) (a) सीतञा, गीतञा कजतनी सुंदरै नहीीं हीै।
(b) (b) सीतञा, रैीतञा से ज्यञादञा सुंदरै हीै।
(c) (c) रैीतञा, गीतञा कजतनी सुन्दरै नहीी हीै।
(d) (d) गीतञा, रैीतञा से ज्यञादञा सुन्दरै हीै।

Q 1. In a queue, Mr. X is fourteenth from the 
front and Mr X is seventeenth from the end, 
while Mr Z is exactly in between Mr X and 
Mr Y. If Mr X is ahead of Mr Y and there are 
18 persons in the queue, how many persons 
are there Mr X and Mr Z?  UPSC 2011

(a) 6
(b) 7
(c) 8
(d) 9

Q 2. Geeta is more beautiful than Sita but not 
as beautiful as Rita then- UPSC 2012
(a) (a) Sita is not as beautiful as Geeta.
(b) (b) Sita is more beautiful than Rita.
(c) (c) Rita is not as beautiful as Geeta.
(d) (d) Geeta is more beautiful than Rita.

PREVIOUS YEAR QUESTIONS

Q 36. कनम्नकलकखत िथनों परै कवीचषारै िीकजए –

1. यञा तो R औरै T बरैञाबरै हीै  यञा तो R, T मे ें बड़ञा 
हीै 

2. यञा तो S औरै P बरैञाबरै हीै  यञा  तो  P,S से  बड़ञा 
हीै

उपयु्णक्त िथनों से कनम्नकलकखत मेें से िौन-सषा कनष्िर््ण 
कनिषालषा जषा सितषा है? 

(a) R, T से बड़ञा हीै।
(b) R, S मेें बड़ञा हीै।
(c) T औरै P बरैञाबरै हीै। 
(d) उपरैोक्त मेें से कोई नहीीं।

Q 37. यकि अंग्रेजी वीर््णमेषालषा िे सभी अक्रैों िो उल्िे क्रमे मेें 
कलखषा जषाये तो बषाएँ से 16वीें अक्रै िे िषाएँ तीसरैषा अक्रै 
िौन-सषा होगोषा?

(a) I
(b) H
(c) J
(d) इनमेें से कोई नहीीं 

Q 36. Consider the following statements –

1. Either R and T are equal or R is greater 
than T.

2. Either S and P are equal or P is greater 
than S.

Which of the following conclusions can 
be drawn from the above statements?

(a) R is greater than T.
(b) R is bigger than S.
(c) T and P are equal.
(d) None of the above.

Q 37. If all the letters of the English alphabet 
are written in reverse order, then which 
letter will be third to the right of the 16th 
letter from the left?
(a) I
(b) H
(c) J
(d) None of the above
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Q 3. कनम्नकलकखत िथनों िषा परैीक्र् िीकजएयेः
1. रैमेञा ने रैञानी से अकिक अंक प्रञाप्त ककये।
2. रैञानी ने रैत्ञा से कमे अंक प्रञाप्त ककये।
3. रैत्ञा ने रैमेञा से अकिक अंक प्रञाप्त ककये।
4. पदमेञा ने रैमेञा से अकिक ककन्तु रैत्ञा से कमे अंक प्रञाप्त 

ककये।           UPSC 2012
सबसे अकर्ि अंि किसने प्रषाप्त किये?
(a) रैमेञा 
(b) पद्ञा
(c) रैञानी
(d) रैत्ञा

Q 4. पैंतषालीस कवीद्षाकथ्णयों िी एि िक्षा मेें, एि बषालि िषा 
बीसवीषां स्थषान है। जब िो औरै बषालि प्रवीेश लेते हैं, तो 
वीह एि स्थषान नीचे हो जषातषा है। उसिषा अंत से नयषा स्थषान 
क्यषा है?  UPSC 2013
(a) 25 वीञाँ
(b) 26 वीञाँ
(c) 27 वीञाँ
(d) 28 वीञाँ

Q 5. चषारै िोस्त  A, B, C औरै D आपस मेें िुछ रैषाकश इस 
प्रिषारै बषांिते है कि रैषाकश A िो B से एि िमे, C िो D 
से 5 ज्यषािषा  औरै D िो B से 3 ज्यषािषा कमेलती है। सबसे 
िमे रैषाकश किसिो कमेलती है?  UPSC 2013

(a) A
(b) B
(c) C
(d) D

Q 6. गोीतषा अपनी चचेरैी बहन मेीनषा से उम्र मेें बड़ी है। मेीनषा िषा 
भषाई कवीकपन, गोीतषा से उम्र मेें बड़षा है जब मेीनषा औरै कबकपन 
गोीतषा िे पषास जषाते है तो शतरैंज खेलनषा पसंि िरैते है। 
गोीतषा िी अपेक्षा मेीनषा 4 अकर्ि बषारै जीतती है। उपयु्णक्त 
सूचनषा िे आर्षारै परै नीचे किए गोई सूचनषा से ति्कसंगोत 
रूप से अनुगोषाकमेत होतषा हैः  UPSC 2013

(a) गीतञा औरै मेीनञा के सञाथ शतरैंज खेलते समेय, कबकपन 
अकसरै हीञारैतञा हीै।

(b) गीतञा तीनों मेें सबसे ज्यञादञा उम्र की हीै।
(c) गीतञा खेल मेें हीञारैनञा नञापसंद करैती हीै।
(d) मेीनञा तीनों मेें सबसे कमे उम्र के हीै।

Q 3. Examine the following statements:
1. Rama scored more than Rani.
2. Rani scored less than Ratna.
3. Ratna scored more than Rama.
4. Padma scored more than Rama but less 

than Ratna.           UPSC 2012
Who scored the highest?
(a) Rama
(b) Padma
(c) Rani
(d) Ratna

Q 4. In a class of 45 students, a boy is ranked 
20th. When two boys joined, his rank was 
dropped by one. What is his new rank 
from the end? UPSC 2013
(a) 25 वीञाँ
(b) 26 वीञाँ
(c) 27 वीञाँ
(d) 28 वीञाँ

Q 5. Four friends A, B, C and D divide some 
amount among themselves in such a way 
that A gets 1 less than B, C gets 5 more 
than D and D gets 3 more than B. Who 
gets the least amount?  UPSC 2013
(a) A
(b) B
(c) C
(d) D

Q 6. Geeta is older than her cousin sister Meena. 
Meena's brother Vipin is older than Geeta. 
When Meena and Bipin go to Geeta, they 
like to play chess. Meena wins 4 more times 
than Geeta. Based on the above information 
it logically follows from the information 
given below:  UPSC 2013
(a) While playing chess with Geeta and 

Meena, Bipin often loses.
(b) Geeta is the oldest among the three.
(c) Geeta hates to lose the game
(d) Meena is the youngest among the three.
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Q 7. किसी पंक्क्त मेें ‘A’ बषाई औरै से 11वीें स्थषान परै है औरै 
‘B’ िषाकहनी ओरै से 10वीें स्थषान परै है। यकि ‘A’ औरै ‘B’ 
आपस मेें स्थषान बिल लें, तो ‘A’ बषाई ओरै से 18वीें 
स्थषान परै हो जषातषा है। पंक्क्त मेें ‘A’ औरै ‘B’ िे अलषावीषा 
कितने व्यक्क्त है?  UPSC 2014

(a) 27
(b) 26
(c) 25
(d) 24

Q 8. कवीचषारै िीकजए कि:  UPSC 2014

1. A, B से लंबञा हीै।
2. C, A से लंबञा हीै।
3. D, C से लंबञा हीै।
4. E सबसे लम्बञा हीै I

अब यकि इन्हें उपयु्णक्त लंबषाई िे अनुसषारै क्रमे मेें कबठेषायषा 
जषाए, तो बीच िी जगोह परै िौन बैठेेगोषा?

(a) A
(b) B
(c) C
(d) D

Q 9. यकि A, B से िमे तेज िौड़तषा है, औरै B, C िे बरैषाबरै 
चषाल से, लेकिन उससे अकर्ि तेज नहीं िौड़तषा है तो A 
िी तुलनषा मेें C िैसे िौडतषा है?  UPSC 2015

(a) A से िीमेञा
(b) A से तेज
(c) A के बरैञाबरै चञाल से
(d) कनिञा्षररैत करैने के कलए कदए गए आंकड़़े अपयञा्षप्त हीैं

Q 10. कनम्नकलकखत िथनों िी परैीक्षा िीकजएः  UPSC 2015

1. किंडी, बंदगोिी से अकिक स्वीञाकदष््ट हीोती हीै।
2. फूलगोिी, किंडी से अकिक स्वीञाकदष््ट हीोती हीै।
3. बंदगोिी, मे्टरै से अकिक स्वीञाकदष््ट नहीी हीोती।

इन िथनों से यह कनष्िर््ण कनिषालषा जषा सितषा है कि -

Q 7. In a row ‘A’ is in the 11th position from the 
left and ‘B’ is in the 10th position from the 
right. If ‘A’ and ‘B’ interchange. Then ‘A’ 
becomes 18 from the left. How many persons 
are there in the row other than ‘A’ and ‘B’?

UPSC 2014
(a) 27
(b) 26
(c) 25
(d) 24

Q 8. Consider that:  UPSC 2014

1. A is taller than B. 
2. C is taller than A.
3. D is taller than C.
4. E is the tallest of all.

If they are made to sit in the above order of 
their height, So who will sit in the middle 
place?

(a) A
(b) B
(c) C
(d) D

Q 9. If A runs less fast than B, and B runs as 
fast but not faster than C; then, as 
compared to A, C runs  UPSC 2015

(a) slower than A 
(b) faster than A
(c) with same speed as A
(d) Given data is not sufficient to determine

Q 10. Examine the following statements:
UPSC 2015

1. Lady’s finger is tastier than cabbage.
2. Cauliflower is tastier than lady’s finger.
3. Cabbage is not tastier than peas.

The conclusion than can be drawn from 
these statements is that
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(a) मे्टरै उतनी हीी स्वीञाकदष््ट हीोती हीै कजतनी किंडी।
(b) मे्टरै उतनी हीी स्वीञाकदष््ट हीोती हीै कजतनी फूलगोिी औरै 

किंडी।
(c) इन चञारैों सब््जजयों मेें बंदगोिी सबसे कमे स्वीञाकदष््ट हीोती 

हीै।
(d) फूलगोिी, बंदगोिी से अकिक स्वीञाकदष््ट हीोती हीै।

Q 11. कनम्नकलकखत िथनों परै कवीचषारै िीकजएः 

1. यञा तो A औरै B की एक-बरैञाबरै आयु हीै यञा A, B से 
बड़ञा हीै।

2. यञा तो C औरै D की एक-बरैञाबरै आयु हीै यञा D, C से 
बड़ञा हीै।

3. B, C से बड़ञा हीै         UPSC 2016

उपयु्णक्त िथनों से कनम्नकलकखत मेें से िौन सषा कनष्िर््ण 
कनिषालषा जषा सितषा है।

(a) A, B से बड़ञा हीै
(b) B औरै D एक बरैञाबरै आयु के हीै
(c) D, C से बड़ञा हीै
(d) A, C से बड़ञा हीै

Q 12. 60 कवीद्षाकथ्णयों िी एि िक्षा मेें जहषाँ लड़कियषँा 
लड़िों से िुगोनी संख्यषा मेें हैं, िमेल (एि लड़िषा) 
िषा रैैंि ऊपरै से सत्रहवीषां है। यकि िमेल से पहले नौ 
लड़कियषंा हैं, तो िमेल िे बषाि िे रैैंि मेें कितने 
लड़िे हैं?  UPSC 2016

(a) 13
(b) 12
(c) 7
(d) 3

Q 13. 52 कवीद्षाकथ्णयों िी एि िक्षा मेें 15 कवीद्षाथथी 
अनुत्ीर््ण हुए। अनुत्ीर््ण कवीद्षाकथ्णयों िे नषामे हिषा िेने 
िे बषाि, योग्यतषा-क्रमे िी एि सूची बनषाई गोई है 
कजसमेें रैमेेश िषा स्थषान ऊपरै से 22 वीषाँ है। नीचे से 
उसिषा स्थषान िौन-सषा है?  UPSC 2016

(a) 18 वीञाँ
(b) 17 वीञाँ
(c) 16 वीञाँ
(d) 15 वीञाँ

(a) peas are as tasty as lady’s finger.
(b) peas are as tasty as cauliflower and 

lady’s finger
(c) cabbage is the least tasty of the four 

vegetables.
(d) cauliflower is tastier than cabbage.

Q 11. Consider the following statements:

1. Either A and B are of the same age of A 
is older than B

2. Either C and D are of the same age or D 
is older than C.

3. B is older than C          UPSC 2016

Which of the following conclusions can 
be drawn from the above statements?

(a) A is older than B
(b) B and D are of equal age
(c) D is older than C
(d) A is older than C

Q 12. In a class of 60 students, where the number 
of girls is twice that of boys, Kamal, a boy, 
ranked seventeenth from the top. If there 
are 9 girls ahead of Kamal, the number of 
boys in rank after him is:  UPSC 2016

(a) 13
(b) 12
(c) 7
(d) 3

Q 13. 15 students failed in a class of 52. After 
removing the names of failed students, a 
merit order list has been prepared in 
which the position of Ramesh is 22nd 
from the top. What is his position from 
the bottom?  UPSC 2016

(a) 18th
(b) 17th
(c) 16th
(d) 15th
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Q 14. A औरै B िी आय िषा योगो C औरै D िी सक््ममेकलत 
आय से अकर्ि है। A औरै C िी आय िषा योगो B औरै 
D िी सक््ममेकलत आय िे बरैषाबरै है। इसिे अकतररैक्त, A 
िी आय B औरै D िी सक््ममेकलत आय से आर्ी है। 
सवीषा्णकर्ि आय किसिी है? UPSC 2017

(a) A
(b) B
(c) C
(d) D

Q 15. P = (A िषा 40%) + (B िषा 65%) तथषा Q = (A िषा 
50%) + (B िषा 50%); जहॉ A, B से बड़षा है।

UPSC 2017
इस संिभ्ण मेें कनम्नकलकखत मेें से िौन-सषा िथन सही है?

(a) P, Q से बड़ञा हीै।
(b) Q, P से बड़ञा हीै।
(c) P, Q से बरैञाबरै हीै।
(d) उपयु्षक्त मेें से कोई िी कनष्कर््ष कनब्श्चत रूप से नहीी 

कनकञालञा जञा सकतञा

Q 16. अनुक्रमे 1, 5, 7, 3, 5, 7, 4, 3, 5, 7 मे ें ऐसे 
कितने 5 ह ैं कजनिे ठेीि पहले 3 नहीं है  किंतु  ठेीि 
बषाि 7 है? UPSC 2019

(a) 1
(b) 2
(c) 3
(d) कोई नहीीं/None

कनम्नकलकखत 2 (िो) प्रश्नषांशों िे कलए कनिदेशः 
कनम्नकलकखत िथनों S1 औरै S2 िो पकिये औरै उनिे 
बषाि आने वीषाले िो प्रश्नषांशों िे उत्रैषा िीकजएः

1. S1 : सोहीन के वीजन कञा दुगुनञा, मेोहीन के वीजन यञा 
रैोहीन के वीजन से कमे हीै।

2. S2 : रैोहीन के वीजन कञा दुगुनञा, मेोहीन के वीजन यञा 
सोहीन के वीजन से अकिक हीै।

Q 14. The sum of income of A and B is more than 
that of C and D taken together. The sum of 
income of A and C is the same as that of B and 
D taken together. Moreover, A earns half as 
much as the sum of the income of B and D. 
Whose income is the highest?  UPSC 2017
(a) A
(b) B
(c) C
(d) D

Q 15. P = (40% of A) + (65% of B) and Q = (50% of 
A) + (50% of B), where A is greater than B

UPSC 2017
In this context, which of the following 
statements is correct?
(a) P is greater than Q
(b) Q is greater than P
(c) P is equal to Q
(d) None of the above can be concluded with 

certainly.

Q 16. In the sequence 1, 5, 7, 3, 5, 7, 4, 3, 5, 7, how 
many such 5s are there which are not 
immediately proceeded by 3 but are 
immediately followed by 7?  UPSC 2019
(a) 1
(b) 2
(c) 3
(d) कोई नहीीं/None

Directions for the following 2 (two) items: 
Read the following statements S1 and S2 
and answer the two items that follow:

1. S1 : Twice the weight of Sohan is less than 
the weight of Mohan or that of Rohan.

2. S2 : Twice the weight of Rohan is greater 
than the weight of Rohan that of Sohan.
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Q 17. कनम्नकलकखत िथनों मेें से िौन सषा एि सही है?

(a) मेोहीन कञा वीजन अकिकतमे हीै।
(b) सोहीन कञा वीजन अकिकतमे हीै।
(c) रैोहीन कञा वीजन अकिकतमे हीै।
(d) ‘ककसकञा वीजन अकिकतमे हीै’ यही कनिञा्षररैत नहीीं ककयञा 

जञा सकतञा।            UPSC 2019

Q 18.  कनम्नकलकखत िथनों मे ें से  िौन-सषा एि सही 
है?   UPSC 2019

(a) मेोहीन कञा वीजन न्ययूनतमे हीै।
(b) सोहीन कञा वीजन न्ययूनतमे हीै।
(c) रैोहीन कञा वीजन न्ययूनतमे हीै।
(d) ‘ककसकञा वीजन न्ययूनतमे हीै’ यही कनिञा्षररैत नहीी ककयञा जञा 

सकतञा।

Q 19. लड़िों िी एि पंक्क्त मेें A बषाएं छोरै से 16वीें स्थषान परै 
औरै V िषाएं छोरै से 18वीें स्थषान परै है। G, A िी िषाई ओरै 
11वीें औरै V से तीसरैे स्थषान परै िषाकहने छोरै िी ओरै है। 
पंक्क्त मेें कितने लड़िे हैं?  UPSC 2020

(a) 40  
(b) 41
(c) 42  
(d) अपयञा्षप्त आँकड़ों के कञारैण कनिञा्षररैत नहीीं ककयञा जञा 

सकतञा हीै।

Q 20. अंग्रेजी वीर््णमेषालषा मेें, प्रषारैंकभि अक्रै कसपरैीत क्रमे 
मेें कलखे जषाते हैंः औरै अगोले 4 अक्रै कवीपरैीत क्रमे 
मेें कलखे जषाते हैं औरै आगोे भी इसी तरैह कलखषा जषातषा 
है औरै अंत मेें Y औरै Z िो परैस्परै बिल कियषा 
जषातषा है। 13वीें अक्रै िे िषाई ओरै से चौथषा अक्रै 
िौन-सषा होगोषा?  UPSC 2021

(a) N  
(b) T
(c) H  
(d) I

Q 17. Which one of the following statements is 
correct?

(a) Weight of Mohan is greatest
(b) Weight of Sohan is greatest
(c) Weight of Rohan is greatest
(d) Whose weight is greatest cannot be 

determined          UPSC 2019

Q 18. Which one of the following statements is 
correct?  UPSC 2019

(a) Weight of Mohan is least
(b) Weight of Sohan is least
(c) Weight of Rohan is least t
(d) Whose weight is least cannot be 

determined

Q 19. A is 16th from the left end in a row of boys 
and V is 18th from the right end, G is 11th 
from a towards the right and 3rd from V 
towards the right end. How many boys are 
there in the row?  UPSC 2020
(a) 40  
(b) 41
(c) 42  
(d) Cannot be determined due to insufficient 

data

Q 20. In the English alphabet, the first 4 letters 
are written in opposite order and the next 4 
letters are written in opposite order and so 
on; and at the end Y and Z are interchanged. 
Which will be the fourth letter to the right 
of the 13th letter?  UPSC 2021

(a) N  
(b) T
(c) H  
(d) I
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RANKING, ORDER & SEQUENCE ANSWER KEY
1. D 2. D 3. C 4. A 5. A
6. B 7. C 8. C 9. C 10. B

11. A 12. C 13. A 14. C 15. B
16. A 17. D 18. A 19. B 20. C
21. B 22. D 23. B 24. B 25. C
26. C 27. B 28. C 29. B 30. B
31. C 32. A 33. D 34. C 35. D
36. C 37. D

PREVIOUS YEAR QUESTION 
1. C 2. A 3. D 4. C 5. A
6. D 7. C 8. C 9. B 10. D

11. D 12. B 13. C 14. B 15. D
16. A 17. D 18. B 19. B 20. B


